L =X BRiER

10 - 20 - 30 - 40X DER $SHM6E9IH23H
E | = % ouT IN |TtoTaL| HDcP | NET
B Bs| \LE& g 42 42 84 12 72
semEm LR R 48 51 99 25.2 73.8
3 fu| EE XA 45 46 91 16.8 74.2
4 x| ZIEfEE 47 50 97 22.8 74.2
5 fii| WESEF 42 42 84 9.6 74.4
B-B| XHEX 57 63 120 36 84

50iZ L DEB
E | = % ouT IN |TtoTaL| HDCcP | NET
& | #HEtm= 42 45 87 18 69
sl AR TE 45 47 92 20.4 71.6
3 fi| KEEH 41 38 79 7.2 71.8
4 fi| Bk &R 47 42 89 16.8 72.2
5 fi| FHBEE 42 46 88 15.6 72.4
B - B| ER =KEB 52 55 107 22.8 84.2

60iZILDER
E | = % ouT IN |TtoTaL| HDCcP | NET
BB FTHER 41 43 84 13.2 70.8
#Em Rk Ins 43 40 83 10.8 72.2
3 fir| Ak RSB 52 48 100 27.6 72.4
4 | EHEE 47 48 95 21.6 73.4
5 | EHER 51 47 98 24 74
B-B| X&E— 50 43 93 8.4 84.6

70 - 80E X DEB
E | = % ouT IN |TtoTaL| HDCcP | NET
# B| HEEE 39 38 77 8.4 68.6
@l EX T 35 36 71 1.2 69.8
3 fir| WHEEZ 46 44 90 19.2 70.8
4 fi| I RB 43 45 88 16.8 71.2
5 fi| PIS #i— 40 38 78 6 72
B-B| #MEE— 56 53 109 28.8 80.2



